ÔRIGINAL

Notary Public:

Date Commission Expires

Kansas Corporation Commission Oil & Gas Conservation Division

RECEIVED

JUL 1 2007Form Must Be Typed

Oil & Gas Conse	RVATION DIVISION September 1999 Form Must Be Typed
CONFIDENTIA WELL COMPL WELL HISTORY - DESCRI	ETION FORM PTION OF WELL & LEASE SCC. WICHUTA
Operator: License #	API No. 15051-25620-0000
Name: Lario Oil & Gas Company	County: Ellis
204 C. Madret	**E2W2W2_Sec18Twp11S. R16East
Wighita KS 67202	2580 feet from S / N (circle one) Line of Section
Olty/State/Zip:	840 feet from 5 / (V) (circle one) Line of Section
ruicilasei	feet from E / (W) (circle one) Line of Section
Operator Contact Person: Jay G. Schweikert 316 326 326 326 327 328 328 328 328 328 328 328	Footages Calculated from Nearest Outside Section Corner:
Phone: (316) 265-5611	(circle one) NE SE (NW) SW Romine 7
Contractor: Name: Murfin Drilling Company, Inc. License: 30606	Lease Name: Romine Well #: 7 Bemis-Shutts
License.	Fleid Name:
Wellsite Geologist: Brad Rine	Producing Formation: Lansing
Designate Type of Completion:	Elevation: Ground: 1806' Kelly Bushing: 1811'
New Well Re-Entry Workover	Total Depth: 3400' Plug Back Total Depth: 3375'
Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented at Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from surface
Operator:	feet depth to 2689' w/ 570 sx cmt.
Well Name:	11/ m 1 4/ 10/ C 10
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan Aff ルガ しょうり (Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride content 9,800 ppm Fluid volume 600 bbls
Plug Back Plug Back Total Depth	Dewatering method used Evaporation
Commingled Docket No	
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name:
Office (OVVD of Emm.?)	Lease Name: License No.:
5-2-07	Quarter Sec TwpS. R
Spud Date or Date Reached TD Completion Date or Recompletion Date	County: Docket No.:
INSTRUCTIONS: An original and two copies of this form shall be filed with Kansas 67202, within 120 days of the spud date, recompletion, workove Information of side two of this form will be held confidential for a period of 12 107 for confidentiality in excess of 12 months). One copy of all wireline logs a TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells.	r or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 2 months if requested in writing and submitted with the form (see rule 82-3- and geologist well report shall be attached with this form. ALL CEMENTING Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regulat herein are complete and correct to the best of my knowledge.	e the oil and gas industry have been fully complied with and the statements
Signature: Juy Schweller	KCC Office Use ONLY
Title: Jay G. Schweikell, Operations Engineer Date: 7/20//	Letter of Confidentiality Received
Subscribed and sworn to before me this day of July	, If Denied, Yes Date:
m 07	↑ Wireline Log Received

Kathy L Jose

Notary Public - State of Kansas

✓ Geologist Report Received

UIC Distribution

*

Operator Name:	Lario Oil & G	as Compa	ny	Leas	se Name:_	Romine		. Well #:7		
Sec Twp	1S. R16	East	✓ West	Cour	nty: Ellis					
INSTRUCTIONS: S tested, time tool ope temperature, fluid red Electric Wireline Log	n and closed, flowing covery, and flow rate	g and shut- s if gas to	in pressures, surface test, a	whether long with	shut-in pre	essure reached s	static level, hydros	static pressur	es, bottom	hole
Drill Stem Tests Take		⊘ Y€	es 🗌 No		✓L	og Formatio	on (Top), Depth ar	nd Datum	∏ Sa	ımple
Samples Sent to Ge	ological Survey	 ✓ Ye	es 🗌 No		Nam Heeb	-		Top 2954		atum 143
Cores Taken			es 🗸 No		Lansi			2999		188
Electric Log Run (Submit Copy)		✓ Ye	es No		Base	кс		3243		432
List All E. Logs Run:					Arbud	ckle		3322	-15	511
GR/CDL/CNL	/PE/DIL									
		Repor	CASING t all strings set-c			ew Used ermediate, product	ion, etc.			
Purpose of String	Size Hole Drilled		e Casing (In O.D.)		eight s. / Ft.	Setting Depth	Type of Cement	# Sacks Used		d Percent ditives
Surface	12.25"	8 5/8"	· · · · · · · · · · · · · · · · · · ·	23#		263'	60/40 Poz	175	2% gel 8	3% CC
Production	7, 7 7/8"	5 1/2"		15.5#		3390'	AA-2 Common	90 10# salt, 8% F		% FLA-322,
DV tool						2689'			2% DF,	1/4 sx CF
			ADDITIONAL	CEMENT	TING / SQL	JEEZE RECORD	A-CON	570	3% CC,	1/4 sx FS
Purpose: Perforate Protect Casing Plug Back TD	Depth Top Bottom	Type of Cement		#Sacks Used			Type and Pe	ercent Additives	•	
Plug Off Zone										
Shots Per Foot	PERFORATI	ON RECOR	D - Bridge Plug	s Set/Typ	e		ture, Shot, Cement		rd	
	· <u></u> -	Footage of E	ach Interval Per	forated		(An	nount and Kind of Mat	erial Used)		Depth
4	3324'-27'			uv.						
				,						

TUBING RECORD	Size 2 7/8"	Set At 3369'		Packer	At	Liner Run	Yes No		1	
Date of First, Resumer 7-10-07	d Production, SWD or E	т	Producing Meth	nod	Flowing	g 📝 Pumpin	g Gas Lift	Oth	er (Explain)	
Estimated Production Per 24 Hours	Oil	Bbls		Mcf	Wate		ols. Ga	as-Oil Ratio		Gravity
	METHOD OF C	COMPLETIO	0			345 Production Interv	val		31	.7
Disposition of Gas	_	JOINTLE HU			. —		_			
Vented Sold	Used on Lease ubmit ACO-18.)		Open Hole Other (Speci	√ Pe (fy)	en	Dually Comp.	Commingled			

Allied Cementing Co., LLC 24 S. Lincoln P.O. Box 31 Russell, KS 67665 *************** * INVOICE *

* *********

Invoice Number: 108593

Invoice Date: 05/09/07

Sold Lario Oil & Gas Co. To: P. O. Box 307

Kingman, KS 67068

KCC JUL 2 0 2017 CONFIDENTIAL

RECEIVED
JUL 1 9 2007

KCC WICHITA

Cust I.D....: Lario_

P.O. Number ..: (Romine #7 (Surface casing)

P.O. Date...: 05/09/07

wlpallerlt --70.01.2

AFE #07-030

Due Date.: 06/08/07 Terms...: Net 30

Salesperson..:

Item I.D./Desc.	Ordered	Unit	Price	Net	TX
Common Gel Chloride Handling	175.00 3.00 5.00 183.00	SKS SKS SKS SKS	11.1000 16.6500 46.6000 1.9000	1942.50 49.95 233.00 347.70	T T T E
Mileage	40.00	MILE	16.4700	658.80	E
183 sks @.09 per Surface Mileage pmp trk Wooden Plug	sk per mi 1.00 40.00 1.00	JOB MILE EACH	815.0000 6.0000 60.0000	815.00 240.00 60.00	E E T

All Prices Are Net, Payable 30 Days Following Date of Invoice. 1 1/2% Charged Thereafter. If Account CURRENT take Discount of 4/34/69
ONLY if paid within 30 days from Invoice Date

 Subtotal:
 4346.95

 Tax....:
 121.13

 Payments:
 0.00

 Total...:
 4468.08

MAY 18 2001

ALLIED CEMENTING CO., INC. 32952

	32732
REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	SERVICE POINT:
	A Company of the Comp
DATE 5-2-07 SEC, 8 TWP. RANGE	CALLED OUT ON LOCATION JOB START JOB FINISH
LEASE ROMINE WELL # 7 LOCATION Hays	N-RUR RD COUNTY STATE
	YZE YZSAE INTO
CONTRACTOR MURFIN DRLG, Rig#8	OWNER
TYPE OF JOB SURFACE 1 HOLE SIZE 12 4 TD 2/62	OF MANUE
HOLE SIZE 12 4 T.D. 263 CASING SIZE 858 DEPTH 263	AMOUNT ORDERED 175 St. Com.
TUBING SIZE DEPTH	2% Gel
DRILL PIPE DEPTH	32 CC
TOOL DEPTH	
PRES. MAX MINIMUM	COMMON 175 @ 1110 1942 50
MEAS. LINE SHOE JOINT	POZMIX@
CEMENT LEFT IN CSG. 15	GEL 3 @ 165 4995
PERFS.	CHLORIDE
DISPLACEMENT IS 4/BBL	ASC@
EQUIPMENT /	@@ @
	@ TYCC
PUMPTRUCK CEMENTER GIRHA	<u> </u>
# 398 HELPER GARY	<u> </u>
BULK TRUCK	
# 378 DRIVER C'HR'S BULK TRUCK	e CONSIDENTIAL
# DRIVER	@
# DRIVER	HANDLING 183 @ 190 3477
	MILEAGE 94/SK/MILE 658
REMARKS:	TOTAL 323195
	CEDUICE
ement	SERVICE
	DEPTH OF JOB
1RC4LATED	PUMP TRUCK CHARGE \$15.00
	EXTRA FOOTAGE @
	MILEAGE 40 @ 10 00 240 000
	MANIFOLD@
CHARGE TO: LARIO VIL EGIAS CO.	••
STREET	TOTAL 1055
CITYSTATEZIP	PLUG & FLOAT EQUIPMENT
	85/2 WEDEN Plug @
	<u>8 % walks 1709</u>
To Allied Committee Co. Los	@
To Allied Cementing Co., Inc.	
You are hereby requested to rent cementing equipment	_
and furnish cementer and helper to assist owner or contractor to do work as is listed. The above work was	
	TOTAL 60 🛎 💆
done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND	<u> </u>
CONDITIONS" listed on the reverse side.	TAX
CONDITIONS asked on the reverse side.	RECEIVED TOTAL CHARGE TOTAL CHARGE TOTAL CHARGE
	TOTAL CHARGE
	BYGGGER MI



Pratt

LARIO OIL & GAS P O BOX 784

HAYS

KS

67601

ATTN:

PAGE

1 of 2

1970-LAR004B

CUST NO

INVOICE DATE 05/11/2007

INVOICE NUMBER

1970000294

5.16-27

LEASE NAME

WELL NO.

Romine

Z (Long String casing

COUNTY

Ellis KS

STATE

JOB DESCRIPTION

Cement-New Well Casing/Pipe:

JOB CONTACT

JOB#	EQUIPMENT #	PUR		RDER NO.	TERMS	DUE DATE	
1970-00295	301		术 AF	E#07-030		Net 30 DAYS	06/10/2007
				QTY	U of M	UNIT PRICE	INVOICE AMOUNT
or Service Da	ates: 05/09/2007	to 05/09/20	007	1			
970-00295							
1970-16205	Cement-New Well	Casing 5/9/07	7	1.00	Hour	1596.000	1,596.00
Pump Charge-I	nent Pumper			1.00	11041		·
Cementing Hea	ad w/Manifold			1.00	EA	250.000	250.00
Cement He Cement Float E				1.00	EA	320.000	320.00
Auto Fill Flo							200 50
Cement Float E	Equipment	NAC	200	1.00	EA	268.500	268.50
Basket Cement Float B	Equipment	WW.	2007 1007	2.00	EA	30.000	60.00
	Compound Kit	JUL 2 (J KUUT NEDITN	7.00	EA	74.200	519.40
Turbolizer		CONFIL		1.00	EA	4583.000	4,583.00
Cement Float E	quipment Cement Collar			1.00			
Cement Float B	Equipment			1.00	EA	726.000	726.00
Weatherfor Plug & Baft	d Latch Down			,			
Plug & Ball Mileage	16			685.00	DH	1.500	1,027.50
Cement Se	rvice Charge			375.00	DH	5.000	1,875.00
Mileage	icle Mileage			375.00	l Dri	3.000	1,010.00
Mileage	icie inneage		_	4,019.00	DH	1.600	6,430.40
• •	nd Bulk Delivery	. 20	E	125.00	Hour	3.000	375.00
Pickup <i>Car, Picku</i>	o or Van Mileage		동	:			
Additives	-	RECEIVED JUL 19 2007	Ž	168.00	EA	3.700	621.60
<i>Cellflake</i> Additives		입극	$\overline{\circ}$	22.00	EA	6.000	132.00
	iction Reducer	图片	KCC WICHITA			0.450	E9.0E
Additives			م برد می	17.00	EA	3.450	58.65
Defoamer Additives				68.00	EA	8.250	561.00
FLA-322				E46.00		0.250	129.00
Additives Salt				516.00	EA	0.230	
Additives				500.00	EA	1.530	765.00
Super Flus	h II						



Pratt

LARIO OIL & GAS

P O BOX 784

HAYS

KS

67601

ATTN:

PAGE

2 of 2

CUST NO

1970-LAR004B

INVOICE DATE

05/11/2007

INVOICE NUMBER

1970000294

LEASE NAME

Romine

WELL NO.

COUNTY

Ellis

STATE

KS

JOB DESCRIPTION Cement-New Well Casing/Pipe:

JOB CONTACT

JOB # 1970-00295	EQUIPMENT # 301	PURCHASE (ORDER NO. FE#07-030		TERMS Net 30 DAYS	DUE DATE 06/10/2007	
			QTY	U of M	UNIT PRICE	INVOICE AMOUN	T
Calcium Chlorid	•		1,608.00	EA	1.000	1,608.00)
	е		25.00		10.710	267.75	;
Cement			20.00		•		
60/40 POZ			90.00	EA	16.530	1,487.70)
Cement			30.00		10.000	,,,,,,,,,,,	
AA2			570.00	EA	17.070	9,729.90)
Cement			570.00	=~	17.070	3,720.00	•
A-Con Blend	d		1.00	11	150.000	150.00	١
Supervisor			1.00	Hour	150.000	150.00	,
Service Sup	ervisor]	
·				i			
				1		KCC	
				1		MOO	
			1			JUL 2 0 2007	
				1	Δ	ONFIDENTIA	1
				20	₹/ ¥		
				l (XX	$\mathcal{K}_{\lambda} \wedge \Lambda$		
				\ \ \ \ (\	N' BU Na	1	
					OR 6 Sa	1	
			Acc	Expl. F	ie 7		
				1	T //		
			5	E MAY	7 200/	ļ.	
			H	MAY)	F ' //		
			acr.			NG.	
			2		ELGVER	निरम ्	
			- 8		The second second second second	S. Manuscon	
					السماستا		
				1	RECEIVED		
						<i>i</i>	
					JUL 19 2007		
				1			
				<u>ب</u> ا	CC WICHI	IA	
			1	1 1	(po 11.0. ii	-	
				1			
			1	1		1	

PLEASE REMIT TO: BASIC ENERGY SERVICES, LP PO BOX 841903 DALLAS, TX 75284-1903

SEND OTHER CORRESPONDENCE TO: BASIC ENERGY SERVICES, LP PO BOX 10460 MIDLAND, TX 79702

SUBTOTAL TAX

28,174.44 683.86

INVOICE TOTAL

28,858.30

. Ic	> }	5 }_					Æ	IELD OF	DER	16	5205
ENER	GY S	ERVIC	ES	Lease	Subject to		Wel		Legal Ç	1-1	15-16111
Date 5 - 0		Customer ID	777	County	-11	ne s	Sta	te F S	Station	5rc	1 1 10 VV
J-9	-0/1	1600		Depth	<u> </u>	Formation		11 J.	Shoe Joint	17	90 Feet
f Lari	o Ollano	<u>d (oas C</u> 84	-ompany	Cesing	155	Casing Depth D. 3, 3 90	Ft TD Z	,400Ft.	et Type //	<u> </u>	ong String
G Hay	10X 10	676	0	Custome	r Represent		Belens	Top dage	ce R./	Mec	sick
E 114 Y	5,11.J.						7	<u> </u>	<u></u>		
AFE Number	7-030	PO Number		Materials Received		ton 1	Clary	<u></u>			DLS
Station Code	Product Code	QUANTITY		MATERIA	LS, EQUIPM	ENT, and SERVIC	ES USED		UNIT PR	ICE	AMOUNT
P	D205	90st.	AA-2		-	<u>.</u>				\$	1,487.70
1	D201	570 sk.	A-COM	1 R	end				 	_\$	9,729.90
<u> </u>	D203	25 st.	60/40	Po:	<u>z. </u>					_\$	267.75
			6 10				——≌	8 5	-	1	721.70
<u> </u>	C194	1681 b	Celltic	ike			RECEIV	- 8	 	_\$	6d1.6U
1	C 195	68Lb.	F LH - 3	<u>d</u> d	7		8	3 8		_\$	561.00
<u> </u>	CSSI	516 Lb.	Salt (t	ine	<u> </u>			\ <u>\</u>	 	\$	124.00
	C243	17Lb.	Defoa	,	. ,	D 1				\$	58.65
<u> </u>	C244	dalb.	Cement	FY		Reduc	er -			\$	132.00
	C310	1,608Lb	Calcium	<u>Chl</u>	oride	2		0.000		\$	1,608.00
7)	6.7.1		C. r	-11	. 11	<u></u>			2	\$	765.00
Γ	C 304	500gal.	Super F	lusk	1 4		e	<u> </u>	¶7	_₹	765.00
D	F-101	7 -	T. 1. 1		, 51/a	1		HEDEN		\$	
$\frac{\Gamma_{\rm D}}{}$	F 101	/ea.	Bastre	1zer t. 51	2 12				1	\$	268.50
5	F121 F181	<u> ea.</u>	Martha	tord	d	Dann Plus		3offle 5	1	-\$	726.00
10		lea.	Weather Auto Fil	1019	12+ Sh	ne 5/21	14na L		100	<u></u> ∤	320.00
 	Fall Fasl	lea.	Tue St	200	e Men	t Collar	51/2	1	<u> </u>	\$	
10	F800	dea.	Thread	age C	Come	pound ti	<u>, , , , a .</u> t			\$	60.00
	1 000	a e 9.	Micagi	ioci (Comp	7007M 111	•			<u> </u>	
P	E 100	375 mi	Heavy	enic	le Mi	leage.	-Wa			\$	1.875.60
P.	E 101	125 mi	Pickup	Mil	eaue.	1-way				\$	375.00
P		4019+M	BULD	eliv	erv	1				\$	6.430.00
'P .	E107		Cement			Charae				\$. ,
P	E 891	lea.	Service							\$	150.00
	- C-11				, 						
P	R207	lea.	Cement	Pum	per:	3,001Ft.	To 3.	500Ft.		\$	1,596.00
P	R 701	leq.	\$Cene	nt He	ad Re	ntal				\$	250.00
, with			Discou	inte	d Pr	ice=				\$	28,174.44
4 .			Plusta	1Xe5		1					,
10244 N	E Hiway 61	P.O. Box 86	13 • Pratt, KS (57124-8	613 • (620)) 672-1201 • l	Fax (620)	672-5383	TOT	AL	

Taylor Printing, Inc. 620-672-3656

JetStar

Page#1 of 2

TREATMENT REPORT

			INC.						
Customer L Q 1 1 C	Oila	ind Ga	Lease No	o. N V	,		Date [107
Lease R	mine		Well #	7')	1-()/
Field Order		" Prat	t	Cas/ng"	15, 9 Depth	3.390	Gounty .	Ya # 6	State TS.
Type Job	st/Stac		~ · · · ·	Vew Well	Formation			Legal D	Description 16 W
PIF	PE DATA	PERF	FORATING DATA	Cemenio	JSED		TRE	ATMENT	RESUME
Casing Size	5. White st	ize / Shots/F	1	Amiri (7)	acks f	A-2	36751+17	RES\$ 58	Priction Reducer,
D50390	1	From	То	File Rate 20	Defo	amer.	.88F	LA-3	25 Min. 108 Salt.
80.7E	36 Volume	From	То	Pad - 25L	b./sk.(Mill []	alre		10 Min.
Max Press	J, JL,	From	То	Person 5 L b	o. 1Gal.	6°9840	<u>591./51</u>	4. 1.45	C5(MinFt./sk.
	Tion Annulus \		То	<u> </u>	of a Specific grounds.	HHP Used		,	Annulus Pressure
2,31d	Packer De	From	To	Flush OB	of. Water	785V999			Total Load
Customer He	epresentative		rens Station Station	on Manager Day	rid Scot	H	Treater	rence	R. Messick
Service Units	19.870	19,905	19,809 19.8	64					
Names	Messich Lasing	McGuire Tubing	Coleman Shie	elds LuChance	1				JUL 2 0 2007
	Pressure	Pressure	Bbls. Pumped	Rate	 			ervice Log	
5:00	<u> </u>			and Float					CONFIDENTIAL
7:06			MUITINUM	Illing STall	TOYUN	5 hoe y	oint u	<u>/1th/iu</u>	110-Fillshoe and
			#1.4.7.10.	battle sci	R L	o Collai	r. Kan	Turbol D Di	izers on Collars#
	 		1+ # 18 or	13,16,417. NO	IN Nazira	TONIT.	Para R	Ign D.	1. Tool on top of lof 85; ts. new 15.5 Lbcsg
9:40			11.17 1001	<u>a,00111.0</u>	Casin	a in Ma	11 Ro	analola	ed Circulate for 2 hrs.
10:42	300			6	Start				-Flush.
			20	6	Start				<u> </u>
			32	6	Start				er.
11:52	300		35	6					AA-2 cement.
									and lines. Insert
					Latch [Down Pli	, sy into	olugo	ontainer.
12:06	100			/. b	Start	Fresh	Water	displ	acement.
	-		10		Start	<u>Drillin</u>	g Mud	Displ	acement.
			70	9	Start		t cem	ent.	
12:14	300		2 CEN	2001		lown.			*
	1,700		Kr. Y.	3 THIE		reup.		-1 ,	~
13.33			30 RECEIVE	MIC,	Keleas	e pres	<u>sure. I</u>	- loat	Shae held.
13.33	1200		40				,	107 100	D.V. Tool.
12:30	200			4	7	D.V. To		1	1 - 1
12:35	200								ounptruck.
		av 61 • P	O. Box 8613	• Pratt. KS 6	7124-861	D W/€11 3 • (620)	672-12	201 • Fax	x (620) 672-5383

Mashin Dumptrict

Taylor Printing, Inc. 620-672-3656

				1)			A 1000 - 1 100 -	·	Significant to the second of t
• " • •				♦	apt	F) c))	<i>f</i>
ال		51	ar	101	JRC			TREAT	MENT REPORT
ENE	RGY:	ser,	7168		000 202	an7			
Customer L A V 10	Oilar	id Gas		lo.			Date 5	_a.	\bigcirc 7
Lease C	omine		Well #	7	Un'ibei				\mathcal{O}
Field Order	5 Station	Prat	1	Casho	15.5°	3,398	oppty.		S State S.
Type Job	op Sta		lew Well-L	ong String	Formation	,		Legal Des	scription 16 W
PIF	PE DATA	PER	FORATING DATA	A CEMELUIDI	JSED	İ	TREA	TMENT F	RESUME
Casing Size	5. STubing SI	ze / Shots/F	=1	A78in 570	sacks	A-COM	TEN PRE	ss39	1SIP 28 Cal Set.
Depth 89	FIPON.	OOFrom	То	Page 125	Lb./sk.	Max 11 +1	alte		5 Min.
8 BE	Volume	From	То	Par 11.5 LE	JGal.	M8.48 (5al. / 5k	.,2.9	6ºMin. FT. 15K.
Max Press 1,5001.5	J Max Pres	s From	То	Fran 255	acks 60	1940 Po	2 to p	ug rat	115 Min. 10 18
	ion Annulus V		То			HHP Used			Annulus Pressure
Phygogeth	F Packer De	From	То	Flush 64B	bl. Fre	-Gas Volumb			Total Load
Customer Re	presentative	on Be		on Manager Dal	id Sco	+	Createrre	nce R.	Messick
Service Units	19.870	19,903 19,905	19,862	19,804					
Driver Names	Messich	McGuire	Shields Lac	hand Colema	h				
Time	Casing Pressure	Tubing Pressure	Bbls. Pumped	Rate			Servi	ce Log	
					Star	tmixi	na	Sacl	rs A-con.
2:20			+	2	Plua	rat an	JAOUS	seho	es,
2:25	200			6	Star	tmixi	ng 570	Sach	s A-Concement.
					Stop	Dumpin	g. Shu	tinw	ell. Wash pump
					and li	nes. Re	elease	Closi	ng Plug.
3:13	400			6	Start	Fresh	Wate	r Dis	placement.
3:24	700		64		Fluga	down.			1
	1,500	. <u>.</u> .			Press	ure up	and c	lose	D.V. Tool.
			1		11.) {	•		ロリエ	1 10 11

10244 NE Hiway 61 • P.O. Box 8613 • Pratt, KS 67124-8613 • (620) 672-1201 • Fax (620) 672-5383

4:00

Washup pumptruck. Job Complete.

Circ 30 sks Cement

RECEIVED

JUL 1 9 2007

KCC WICHITA



JetStar / Acid Services Division P.O. Box 8613
Pratt KS 67124
Phone (620) 672-1201
Fax (620) 672-7019



As of March 7, 2007 BASiC Energy Services has purchased JetStar Energy Services / Acid Services LLC.

We would like to thank you for being one of our valued customers and would appreciate if you would let your accounts payable department know the new remittance address is:

BASiC Energy Services, LP P.O. Box 841903 Dallas TX 75284-1903

Thank you for your cooperation in this matter. If you have any questions or need any additional information please the BASiC Energy billing office in Pratt KS at (620) 672-1201.

JUL 1 9 2007 KGC WICHITA